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INSTRUCTION TO CANDIDATES

Immediately after getting the booklet read instructions
carefully, mentioned on the front and back page of the
question booklet. Do not open the seal given on the
right hand side, unless asked by the invigilator.

Write your Roll No., Answer-sheet No., in the specified
places given above and do your signature.

Make all entries in the OMR Answer Sheet as per th
given instructions otherwise Answer-Sheet will not b
evaluated.

After opening the seal, ensure that the Questio
Booklet contains total No. of pages as mentione
above and printing of -all the 200 questions is proper.
If any discrepancy is found, inform the invigilator within
15 minutes and get the correct question-bookiet.
For each question in the Question Booklet choose the’
correct or most appropriate option from the given four
alternatives and darken the same circle in the OMR
Answer sheet with Black or Blue ball point pen.
Darken the circle of correct answer properly otherwise
answers will not be evaluated. The candidate will be
fully responsible for it.

There are 200 objective type questions in this question
booklet. 1 mark is allotted for each correct answer
and 1/4 mark will be deducted for each wrong Answer.

Do not write anything anywhere in the Question
Booklet and the Answer-Sheet except making entries
in the specified places otherwise OMR sheet will not
be evaluated.

After completion of the examination, only OMR Answer
Sheet and cover page of question booklet is to be
handed over to the invigilator. Carbon copy of ‘the
Answer Sheet and Question Booklet may be taken away
by the examinee. '

This Question Booklet consists of parts namely :—
Part (1) (i) General Studies (ii) General Knowledge of
State 1- 50, Part (2) General knowledge of Computer
51~ 80, Part (3) General Mental Aptitude 81-110, Part
(4) General Mathematics 111-140, Part (5) General
Hindi 141~ 180, Part (6) General English 181 - 200.
All questions are compulsory.

in case of any ambiguity in English version the Hindi
shall be considered authentic.
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PART -1 (1) (General Studies)
(2) (General Knowledge of State)
HET — (1) (A AETT)
(2) (TSI =T {HAT 7(1+)

1. Whoofthe following describes the officersof 1. frfeias & & foraet Atef et o fefit ferwe
————vartousdepartments i Mauryarr administration F ATHIET SR 37 S| <l 9ui R 2 7
and their dl?ues ? &) A=
(A) Kautilya _
B) Kalhana B B
(C) Megasthenese © TS
(D) Deosdorus D) fesiem

2. Whoofthe following Sultansof Delhicreated 2.  fr=ifofaq & 9 e fegt g?l?ﬂ?f I T g™
the largest standing army paid by the State ? S o Rl wrht S @ fmior R ot 7
(A) Ghiyasuddin Balban (A) W"W
(B) AllauddinKhilji (B) HATHEN Raarstt
(C) Muhammad bin Tughlaq (C) TEHg fom e
(D) Sikandar Lodi (D) FRrerex T ‘

3. Whichofthe following;r treatieswasconcluded 3. Tty See 3feam @t 3 HewST Wi fag %
betweel} the B'r'itis.h East India Company and Fr Frefafea § @ F9-dt g §§ 9
Maharaja Ranjit Singh ?

(A) Treaty of Lahore (&) TR H e

(B) Treaty of Longowal B) e A @
(C) Treaty of Ludhiana (C) g g
(D) Treaty of Amritsar (D) IR A

4. Who of the following was the first president 4.  WRA™ T FHOG %y FTege freteraa 7 9
of the Indian National Congress ? TN
(A) Dadabhai Naoroji (A) TEHE AR
(B) Ferozshah Mehta B) fRemE Agar
(C) Wyomesh Chandra Banerji (C) AW Fvg Sl
(D) Gopal Krishna Gokhale D) eI F RS
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Who of the following was the pioneer of
cultural renaissance in modem India ?

(A) RajaRammohanRoy

(B) Dayanand Saraswati

Aryfp Ra A frfeafge & @ S Qrepfas
TSRO < oI & 7

(A) T THHE T

B) TIHEE T

(C) Swami Vivekanand
(D) Ramkrishna Paramhansa

Which of the following religious texts contains
the gistof Vedanta Philosophy?

(A) ThePuranas

(B) The Upanishads
(C) TheBrahmanas
(D) Dharmashastras

Which of the following is not the school of
Buddhist Art?

(A) Gandhara

(B) Mathura

(C) Nagarjunkonda
(D) Amravati

Who of the following was the author of 8.

'Rajtarangini' ?
(A) Kalhana
(B) Banabhatta
(C) Medhatithi

(D) Vishakhadatta

© @i R

(D) THET TR

P & 3 frr e 7 3 e e o
OR fifea 3 7
@) T
®) Jufg

(C) FEwa

D) R

Pt 3 & -2 g hor 1 it 7 27
(A) TER

B) T

(C) TR Hiet

(D) et

TR % o FfRad § A a1 )
(A) HEn

(B) g

(C) werfafy

(D) FrmEEa
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9.  Which of the following is correct ?

(A) Article 21 of the Constitution protects

_ (B)—Asticle 21 ofthe Constitution-proteets—

the individual against the executive
action

the individual against the legislative
action

(C) Both(A)and (B)

(D) None ofthe above

10. Inthe context of Sarkaria Commission, which
of the following is matched ?

@

(1)
(i)
)
V) |
A)
®)

©
D)

The Governor should be nominated by

the President

The tenure of the Governor should be
changed

The Governor should be appointed with
the advice of Chief Minister

The Governor should not be active in
politics after his retirement

A person, who is defeated in the
election, should not be appointed as a
Governor '

® @ @
@ @
@ @ o

v » O

9.

Pt e )

GV

®)

g o STeRE 21 HRIUTTR & il
% fireg =afts 1 TR0 T 2
g 1 argede 21 frenfe % wEt

10.

©
®

¥ foreg =afeh o1 ERETOT T @
(A) 3% (B) 3

o i 8

o s % e # fmw A @ @
gafera g 7

@

(i)
(i)

()

1\

(A)
B)

©

D)

e
g B arafy aiatda i A =eg

T i FERe, Jeel & W W
B A Y

(IO I YT A qoea J
Tlsra 7 A wfeg

T =T, S A H 8R T 8, % e
Freges &1 feper < =g

@ @ G
@ @
@i @ o
v o O
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11.

12.

(i)  Functions about policy
(i) Posting and services of Administrative
officers .

(i) To make rules about the services of

Government servants
(iv) Vigilence
A O
@ O W
© O @ (@
O O W @ @)

If a bill passed by the State Legislattive 11. af¢ & fadgs wsg amam grn wia & 9=
Assembly and Governor referes it to the 3R TSI I Al <l Tefld & g, af 9
President, what will be happened ? 2T 7
(i)  President can't refuse to approve the () Uggia fomt frogs ) wield o O @R
- fiancebill R
() President can refuse to sign on the () TEul aemy Ries W R s a
ordmz.arybﬂl | . | SRR R AT B
(i) President can ;c?turn. the bill to i) IR e ) R 5 W %
assembly for reconsideration
(iv) If assembly passed the bill after recon- ferg =Toet % e @
- : : ) (v) 3 e gARER & g e aia
sideration, President can't refuse to sign R
onthe bill _ :Z{ﬁa_gr; % w RIS
(v) If assembly passed the bill after o
o reconsideratiz)nl? President can refuse to ) afe; foreme gﬁﬁﬂr{ % RIS [RERERIT
sign of the bill FR odl 7, 1 gl g W g
(v President can use the power of pocket FA YA R ARNE
veto in this matter (Vi) Wﬁﬁﬁmwwwmﬁ
@ o0 @ ™ O A 6 @ @ W
B G G & " ® @ & O W
© o0 W @ W o o0 @ @
O© @ @ © ™ O @ @ w oy
Which of the following is included in the 12, TWF TImEE faum & ==& § e 8 q &
functions of General Administration affrfera 2 7
Department ? @ i n .

(i) VT SifereRar Bt veETT 3R Hard
(i) TR T A Ferst @ ward fRmy
o1 femfor

(iv) HIHd
A O
@) @O @

© O W @
© O W @
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13. What is not correct about the transfer policy of 13,
the State ?
()  Every transfer will be approved by the
minister
(i) Transfer order will be issued by the
minister
(i Transfer order will be issued by the
department .
(iv) Departmental minister can cancell the
transfer order of an employee
®» o @
@) O @D
© @ @)
O) @ @)
14. Match the following — 14.
(a) Departmentof (i) Third Gender (a)
Commerce and Welfare Programme
Industries ®)
(b) Departmentof (i) Mid-day Meal
social welfare Programme ©)
(¢) Departmentof (i) Chief Minister Youth '
Panchayat and Self-employment @

Rural Development  Plan

(d) Departmentof  (iv) Prime Minister Awas
School Education ~ Yojna (Rural)
@ O © @

@ @ @ O @

® Gy @@ O @

© G @ O W

© G ® @ @

Yo Y TRyl Aifer % ferar & e W G 87
G)  VeE SRR T gRT A B

(f)  CHFIRET SR FAT GRT AN Fohal S
(i) TTTIROT ST FoymT gRT S e s
Zv)_ﬁmffm_nzﬁmﬁmﬁaﬁmww

A TR L Geha B
n O @
@ O @)
C) G @)
®) G )
gAferd g —
e T SEn () I oRT et wEiA
e
FHIS el TEm () HeurE Hiew HEwd
TR wE A (G e g SRR
feremr T BISCH
g e BT (iv) TEEAST STERT ST
(Arior)
@ (@O @© (@
A () vy @ @
® G @ O @
¢ @ @ O @
®) G O (v) ()
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15. Between 2001-2011 population growthrate 15,  200]1— 2011 § YR | SEE gig @ off
in India was— _
(A) 17.83% B3
B) 21.43%- (B_) 3%
(C) 23.50% (©) 23.50%
®) 18.73% . ©) 1873%
16.  Which place is famous for diamond ? 16. & @ fom ufig I g
(A) Latapara. (A) @REERT
(B) Paylikhand (B) UmitETE
(C) Narharpur (C) TR
(D)  Sonakhan (D) qErEE _
17. There will be rains in the winter in the 17. 9RE % ITR-UlTe 07 3 s & a5f gt & —
north -west part of India by —
(A) Retuming monsoon U N
(B) Western depression B)  feh e @
(C) Tropical cyclone (©) IRt w5heE &
(D) None of the above (D) 3‘1?3:?5 T HE Tl
18.  Which of the following is correct about the 18. 2011 3SR SR AR hl T Afereh TeRal
maximum literacy as per 2011 census of India ? & frog § e 3 - R 0
(A) Maharashtra and West Bengal (A) HEWE 3R Yo I
(B)  Tamilnadu and Punjab (B) dfieTg 3k daE
(C)  Gujaratand Karnatak (C) T 3R wAlcen
(D) Kerala and Mizoram D) H 3R e
19. Whatis green gold ? 19. 9 #1327
(A) Teakleaves (A) | eIt q?n
(B) Salleaves (B) A U=
(C) Tendu leaves (C) dg e
- (D) None of the above D) ngﬁ T q i T

% w1 % fordl SoTE / SPACE FOR ROUGH WORK
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20. Whatis "Tata Pani'? 20.

AT F R ]
(A) Lake (A) =
(B) Marshyland (B) dolad
(C) Fountain of hot water (C) " ul @ R
(D) None of the above (D) SwE A HE T
1. Minimata and itai-itai diseases are due to 21, fifmrIwd ZaTS -2ars U s Zifeaed & e
toxicity of — BT 7
(A) Mercury and tin (A) TR T e
(B) Mercury and cadmium B) WHl W Sheftram
(C) Mercury and lead (C) R e
- (D) Mercury and iron (D) TR TE A
22.  Matchlist-I with list-II and select the correct 22, 1:13%-‘1 el @% -1 g gﬁﬁ%ﬁ = = T 6
answer using following codes : e 3 TE IR =g HIg —
List-1 List-11 -1 Tt - 10
(a) Flatfootdisease (1) Polychlorinated S TR
bipheny! (PCB) @ Wegedm O - L
(b) Thyroid cancer (2) Strontium-90 . ®) qRREE TR (2) wiREH-90
(c) Skindisorder (3) Iodine-131 © - s (3) AEEA-131
(d) Bone cancer (4) Arsenic @ @ R @) e
(e) Osteoporosis (5 Fuorine © SRR (5) T

@ @® © @ @
A) 4 3 1 2 5
B) 1 3 5 2 4
C) 5 2 iv 4 3
D) 1 2 3 4 5
23. CFClzis responsible for the decomposition of 23.
ozone to oxygen. Which of the following
re-acts with ozone to form oxygen ?
@A C,
®) CI7
©) Cl
(D) Cl10

(a) b (© (d e
(A) 4 3 1 2 5
®B) 1 3 5 2 4
€ 5 2 1 4 3
D) 1 2 3 4 5
CFC13W%aTaﬁwﬁﬁw%ﬁqmﬁ
3| P B o e @ B R st
AR 7
)
® da-
) d
(D) ClO

6 %14 * fd w1 / SPACE FOR ROUGH WORK
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M FR b & ged 4 e #9F | B

24.  Consider the following statements regarding ~ 24.
motorcar battery : I -
1. The voltage is usually 12 V. 1. dreeS GHE: 12V 3R |
2. Electrolyte used is hydrochloric acid 2 E‘[E;;R‘ﬁﬁ?h' S ] ST ?aﬁ HUE
3. Electrodes are of lead and copper. ;;q@j;z; FEHIE |
e Capacity isexpressed i wmpere-hous, 4 a9 Qa-a % o | e A |
Correct statements are — TE T
(A) land2 A 1 dx2
(B) 2,3and4 B) 2,33R4
(C) 1,2and3 € 1,23%3
(D) land4 D) 134
25.  Whichoneof the following is the anothername 25, 7= § @ 94 T& RDX &I FWAME 7
of RDX ? -
(A) Cyanohydrine @ _
(B) Dexiran B) A
(C) Cyclonite (C) WHFAMTES
(D) Cyclohexane (D) GEFARA
26.  Consider the following : 26. T W fem fifsw

Assertion (A) : Information technology is fast
becoming a very important field of activity in
India.

Reason (R) : Software is one of the major
export of country and India is a very strong
base hardware.

Chooe the correct option :

(A) Both A andR are correctand R is
correct explanation of A

(B) BothAandR are correct butR is not a
correct explanationof A

(C) AdiscorrectbutR is wrong

(D) Aiswrong andR is correct

SRR (A) : WRT H T Vreifivehr el &
Hereye! Bl S @R |

ST (R) : 1 3 forg Ameder v g fafa @
YT A A A FE U R |

i fmrer 9T

(A) THI A 3R R Tdt & 99 R, A 1 @&
R R |

(B) T A IR R T § G R, A T
AT TE ¢ |

(C) AWEE RTEAR

D) ATEE R G

T w1 % fold S8 / SPACE FOR ROUGH WORK
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How much amount is saved till 6 November,
2017 under Direct Benefit Transfer Scheme
by States ?

(A) ¥52737.32Cr.

(B) <.57000Cr.

217.

nﬁrmw&ammm%mﬁﬁ 6
IR, 2017 T Free Tk St awa B T e 7

(A) T 52737.32 %8

B) T 57000 &R

~ =

28.

29.

30.

(© z1557Cr
(D)' None of the above

Which statement is not correct at end June
2017 state of born Indian economy ?

(A) Short-term debt jumped 8%
(B) Long-termdebt jumped 1%

(C) India's external debt witnessed an 1.3%
over the same period a year-ago

(D) None ofthe above

How many rates are fixed under GST in
India ?

A 3
B) 4
C) 5
(D) None of the above

What was the target of Demonetisation of big
currencies in India ?

(A) To eradicate black money
(B) To wipeout counterfeits
(C) To spur digital payments
(D) alltheabove

28.

29.

30.

(€557

D) IEE A A AT
2017 S 3 o H Teufer § -1 e W
odfeaan 3 @y § 9l T T

A) S 0T & § viawd @ g
B) A o § 1 wfeea 6 35

(©) e o ot st e o A At
% T 1-3 viewma 6 9fg

O) ST E T
Wﬁaﬁmﬁmm%mﬁmﬁﬁﬁﬁﬁa
IR |

8 3

® 4
©) 5

) udw F F wE A
e & T2 A i Rt H wn ded A

(A) T U i THTH FHA
(B) el TGT B AR A
() Fesfieet e =t g &
© HH @

T F1 % fordl soTe / SPACE FOR ROUGH WORK
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31. Which statement is not correct about 31 ﬁ-ﬂ;ﬁzg{m IR HITE % 98 § DH-a7 e
Demonetisation and Black Money ? e
(A) rlegstr:ilclion suspicious cases are R C———— -
(B) 17000 shell companies are under watch g
(C) 3-32 million bank accounts are B) 17000 %WﬁﬁﬁWﬁ%
G _ © 332 Ffort o5 wran ot
(D)  1-12 million people have responded to
queries (D)  1-12 Wfera &im St veaier 3 vedv frr
32. Where will “Logistic Park” be made in 32.  “YRAEET % eara ‘aﬁ%wnz%" e §
Chhattisgarh under “Bharat Mala™ ? et T T 9
(A) Raipur (A) TR
(B) Rajnandgaon (B) UsHia
(C) Bhilai () e
(D) None of the above D) B‘C@Eﬁ I § A
33. During the Civil Disobedience Movement in 33. 30 U N GRRY SR TR h O Fehiiad
SR o 3 e i ¥ e
(A) Raipur A) TR
B) fh#g ®) g
(C) Bilaspur (©) m
(D) Dhamtari D) Tuad _
34.  During the Quit India Movement in this State 34. 39 U9 I NG DGt S H e 10 A,
under the leadership of whom of the following 1942 %1 Ty & frferfiad T3 Fe Y §

a large procession of students was taken out
at Raipur on 10 August, 1942 ?

(A) Kamal Narayan Sharma
(B) TretaNath Tiwari

(C) Ramkrishna Thakur
(D) Ranvir Singh Shastri

ferenffal =1 v feremret o fremten T o 9
(A) FH RO I

B) e e

(C)  THET 3R

D) WER fig

T % % fort STg / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M

f12]

Set- A




following region of this State ?
(A) Sarguja

(B) Bastar

(C) Raigath

(D) Raipur

< ) Bt i & R it o

35, Inwhichof the following zamindari in this State, ~ 35.
a peasant movement took place in 1946 against ¥ e % foreg 1946 # fepam srigrer g3l 7
the atrocities of the zamindar ? ‘
(A) A
(A) Chhuikhadan
(B) Khuji |
(C) Panabaras (C) UFTERY
(D) Daundi-Lohara D) & AN
36. Dular Singh Mandaraji of this State isknown 36 =g qsg % g?«l'l'{ firg e oreforfaa § e
as the promdter of which of the following A gﬁﬂT . b
folk-dance?
(a) =
(A) Panthi
31
B) Sua ® 8
(C) Karma (€ =
(D) Nacha D) A=
37 'Jhara' metal art is related to which of the 37 TR Gigehell W TSA % forfoaa § 4 frr

A EERE R 1
(A) T
B) H
(©) =T

(D) IR

3% F1d % fod sTg / SPACE FOR ROUGH WORK
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38.  Which of the following is the meaning of ~38. 39 TS % HgFR "Bl hel’ 1 1 FAferfaa

saying ‘Chhati Phantana’ of this State ?
(A) Unbearable
(B) Committing atrocity

(C) Tobejeaous

39.

40.

4].

(A

(D) Tochallenge

Who of the following Anthropologists has
written a studied account of the 'Ghotul' of
Muria tribe of this State ?

(A) EdmmndBunt
B)
©)
D) |
Regarding Jnanpith Award, which of the

E. T. Dalton
Verier Elwin

Vincent Smith

following pair is correct ?
(A) Shankha Ghosh-2016
(B)
©

(D)

Raghuveer Choudhury —2014
Balchandra Nemade — 2015
G. Sankar Kurup - 1961

“Rafflesia Amoldii” is connected with which.

of the following country ?
Indonesia -
- Malaysia
South Korea

None of the above

®)
©)
D)

—(Cy £l &

39.

40.

41.

AAE )
(A) W& A&l B
B) IIIER BT

D) FAd e

freferfaa & A fr gacfiET 3 50 T B
AR AT 6 g’ T TR AR TRy
foran g 7

(A) TeHS e

®B) %o o gred

(C) IR Ifesr

(D) e fam

TS o JREER o IR H fforfiaa & @S-
JHEE B ] :
(A) @ IN - 2016

(B) TR = - 2014

(C) dwrETg =9ie — 2015

(D) Sito T PG — 1961

T il R 31 9§ et 9

: ‘(A) AR

(B) waRFT
(C) gl&ror =ik
D) IR A A B T

% & & ford 18 / SPACE FOR ROUGH WORK
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42. Which of the following is not true about Majuli 49

. W gu R R A T AR

Island ?
. (A) TRFWAAT
(A) ItisinAssam
<Al

(B) Itis the first Island district of India (B) T WA B e E ,
(C) Union Government has launched a C€) WEwe A el % foTQ O

scheme for protection of the Island TRE R 2
(D) None of the above (D) S9EF § W K T

43.  Which of the following players captained 43,

winning Indian Team for under 191CC Cricket
World Cup 20187

(A)

B)

(©)

(D)

Manjot Kalra
Prithvi Shaw
Unmukt Chand

None of them

ez 10 st e o B R H 20188
T R 7

(A) TR FAT
®) =W
(C) SH® I
(D) T HE T

44, Tndian Mouse deer was found recently inwhich ~ 44. & & o Rt g o 5| v F el
of the following place in this State ? '

)
®)
(©)

D)

Forest of Surguja district
Forest of Bastar district
Forest of Gariaband district

Forest of Kwardha district

T ]

(a) wgen R H A

®) TR FFE

(©) e et % A
(D) wadi Rt wa A

<& %1 ¥ ford 9w / SPACE FOR ROUGH WORK
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45. Naina Dhakar became the first girl fromthis 45 347 ©7ehe 30 T &1 HUH Fifofhl a:ﬁﬁm%r T
/ State to scale which of the following peaks ? I R e W e

T K2 , (A) *-2

(B) Bhasirathill

R [ O ry
(D) AT 1T

(C) Mount Everest : | (C) TS TR
(D) Noneoftheabove D) ngiﬁ; A A hiS A8
46. Fenny is a chashew liquor commonly produced 46. ot Wﬁﬁ? o Forr o B G R 9
-~ inwhich State ?
(A) Karnataka \ oo
(B) Gujarat (5] s
(C) Bihar ©) frew ‘
@) Goa | _ D)
47. ChiefJ gstice.of Ipdia who remained for longest 47. R HAE-9 e TS g9Y o 99T a6
period in office is — e e 9
(A) SudhiRanjanDas @A) ﬁ”«ﬁ R
(B) Bhuvaneshwar Prasad Sinha | B) MR TG
©) Mohamma;l Hidayatullah (©) Hrerre fﬁm—g@
(D) AjitNathRay (D) ;ﬂq‘}

T &R % fordt STg / SPACE FOR ROUGH WORK
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48.

Martina Hingis is of which country plays
Tennis Women Doubles Match with Sania
Mirza ?

(A) Spain

48.

49.

50.

(B) Belgum
(C) Switzerland
(D) Serbia

Madvur Vasudevan Nair Was connected with
which dance ?

(A) Kathak

(B) Kathakali

(C) Kuchipudi

(D) None of the above

Who is the Chairman of Seventh Pay
Commission ?

(A) Justice A. P. Shah
(B) Justice B. N. Srikrishna
(C) Justice A. K. Mathur

(D) Justice B. M. Shah

49.

50.

—(B) dfcaan

wfen frat % we e w Afen g A
Qe el mié Tl o < A 87

(A) @A

©) RS

D) afE

HR, A T R 9 @ e ¥
(A) hchh

(B) el

© Fhgd

©) <9 § A A T
@a’é’r%ﬁaa{@ﬂmmﬂﬁq%? |
(A) = To o TR

B) A dto THo s

(C) A Yo Ho AR

(D) =R dlo Wo TME

IF F1 % T wo1g / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M

[17]

Set-A



51.

PART -1II (General Knowledge of Computer)
= HET — 1 (FFRER FH WA STHHRT)

Which of the following is an invalid video
resolution ?

51

(A) 640 x 480

52.

53.

54.

- (©)
(D)

(B) 800 x 680

©
1)

The term 'software' was first used by —

1024 x 768
1152 864

(A)
®)
©
D)
Hyperthreading is supported/perfénned by -

Dennis Ritche
Winston Turkey
Ronald Duking
John W. Tukey .

(A) SystemBus

(B) Central Processing Unit
(C©) ROM

(i)) " Hard Disk

The computer does not need a translator to
understand and language.

(A) highlevel
(B) fourth generation
machine

assembly .

52.

SL)

54.

. P A s R R (R

gEd) R 7 .

(A) 640 x480

®)
(C) 1024 x 768

(D) 1152 x 864

TR YTec <hl SUAT Gemy fohe fearr o 9
A) ==

(B) firew et

(C) Tes gl

(D) W g0 gh
% gr Eewdfet @ and /uesta R
S 2 |

A) Toem=a

B) W TR e

(C) W (ROM)

(D) @ feeh

TS ] AHE 9 ol g h e
I SAETEHA T 2

A) T ER (& )
B) el it
© WA
D)  sTw=l

- 800 x 680

- w1 % o 3718 / SPACE FOR ROUGH WORK

. 8210/ME-JT/RCE-M
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55.

The IBM Automatic Sequence'Controlled 55.

Calculator (ASCC) is called —
(A) ENIAC

(B) MARKI

56.

57.

58.

(©)  Analytical Engine
©) UNIVACI

A fanis attached to.

ina corhputer system.
(A) RAM
(B) VDU
(C) ROM

O) CPU

Which device has a cylindrical drum called pho- 57,

toreceptor ?

(A) Digital camera
(B). Scanner

(é) Inkject Printer

(D) Laser Printer

The Golf Ball Printeris a - ' 58.

(A) Lineprinter
(B) * Laser printer
(C) Daisy wheel printer

(D) Petal printer

56.

330 Hro Wo, TTler SFgshA PRI Shefgeiet
I el ST & —

(A) ENIAC

B) MARKI

© e o (e
©) UNIVACI

(@) g

A2 R § o YRR g A g, R
RARATER (AR el Wit 8 7
i
B) R

© e i

D) &R I

(A) < B

®) R O

(©) oot o i

D) few B

T F1 % Tt 518 / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M
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59.

60.

61.

62.

Which of the following is not a free operating

59. T H ¥ -1 T T SR R S
system software ? EEE )
(B) Ubuntu B) 3;@
(C)  Syllable Desktop (C) Trdaet wre
(D) Kubuntu D) m
Which of the following is not a version of g9 fr ¥ FR-T RS 7 STRFET R ATFesR’R
Windows 7 operating system software ? T T TR T D 2
(A) Ultimate (A) iz
(B) Professional (B) TRRIE
(C) Maximum (C) . Dfeasw
(D) HomePremium D) 7MW firfay
After booting a computer with Windows 61. T e Ren A HFIR @l T HA

operating system is displayed on the

screen after you log in.

(A) Icon

(B) Folder i .
(C) . Desktop ' &
(D) Logo

In MS Word software, when F12 key is
pressed then— :

(A) Save AsDialogue Box is opened
(B) SaveDialogue BoX is opened
(C) Open file Dialogue Box is opened

(D) Current Document is closed

62.

W ... GhHA TR TR 21T B S 319 & 3

F AT S |

(A) 3T

(B) RS

(©) whem

(D) vl (U E)

THo THo T8 TR H F12 9o ¢ W

(A) Save As THAM G (VTG ART) Gl
[

(B)  Save SHN T (TG A1) AT &

(C) Open file THAW 9T (GaIg die)
gl 8

(D) Current Document (S5 S&TaT) &g
RASISUR

Th & % Tl S8 / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M
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63. MS Word software provides margins 63, UHo UHo T% WIFEAW Th Fq A AT
for setting of a page. ______ iR e wRA R |
(A) horizontal and vertical (A) " AR ol SR
(B) topandbottom |- B) T IR A=
(C) leftandright ©) } g 3R T
D) top,bottom leftand right - D) W, i, 9 Sﬁ? TN R
64. The equipment needed to allow home 64. Home computer ﬁwﬁe%m A %‘Q
computers to connect to the internet iscalled—. ... ITEFRUT Y SR Bt 2 |
(A) modem (A) modem
(B) gateway (B) gateway
e (C) monitor
(D) - peripheral (D) peripheral
65. Searchengines are used to— 65, o Sl S R —
() N Seame g | (A) searchvideo
(B)1. search coCURER (B) search document
(C) download software (C) download software
(D) Alloftheabove D) W o
66. To join the internet, the computer has to be
conmecteloar ' 66. ZEE H A 8 o fofg, R ....... H Jer
(A) Internet architecture board AR |
(B) Internetsociety Eg)) IIEZEZI zzii:;cture e
(C) Intemetservice provider (C) Internet service provider '
(D) None of the above © HF Sy
67. Computer virus program is usually hidden ¢4 W AR T A F fom g

ina/an —

(A) Operating system
(B) Application program
(C) Harddisk driver

(D) Both(A)and(B)

21

(A) Operating system
(B) Application program
(C) Hard disk driver

@) (A) 3R (B) T

T FT4 % fo e / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M
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68. Which of the following is asoftware thatonce 68, FrafiRad it & -a1 TTFR Th TR TTH
B e st
containing advertisements related to the sites 1 track R 3TTH T visited sites 3R topic
and topics you've visited ? Tt fergmoe amohr 3R Ao § |
(A) Backdoors : g (A) Backdoors a
(B) Adware (B) Adware
(C) Malware (C) Malware
D) Bots D) Bots
69. is the action of recording the key struck .69. __________ FWAR R W W & keyboard W
onskeout ey emerly ot oy et 9 ey
actions are being monitored. . ST A A A T S Aeht @ )
(A .Denial‘of service I SR W TR R
‘ . (A) Denial of service
_ .(B) Keylogging (B) Keylogging
(C) Exploit (©) Exploit
(D) Scam (D) Scam
70. A smaller version of an image iscalled a— 70. Image %1 Blel &Y Hgeldl & —
(A) clipart (A) clipart
B) bitmap (B) bitmap
(C) -portable network graphic (C) portable network graphic
(D) thumbnail (D)  thumbnail
71. Moving Picture Experts Group (MPEG) is used 71.  Moving Picture Experts Groups (MPEG)
to compress — SR A HIT FRA T ITIN BT E |
(A) Frames (A) frames
(B) Images (B) images
(C) Audio (C) audio
(D) Video (D) video

& % % for@ w918 / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M
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73.

i

72. Before audio or video signals can be sent on 72 3%—{-}3 & audio A1 video sxgnal TR Y q‘é‘é
Internet, they need to be — L g T FEEER |
N (A) Channelized
(B) Managed ®B) Managéa
(€ Digiped (C) Digitized
(D) Organized (D) Organized
A hard disk is divided into tracks, which are‘ 3. Th EEF {—g@ trag;ks # R B B, 9 g
furthersubdividedinto— - & ot ﬁ | 8
(A) Clusters (A) ‘ Clus ters o
(EiFpesion  (B) Sectors
(C) Vectors ©) _Vectors
(D) Heads ! D) .Heads : ‘
‘74. . 'Which among the following is odd ? 74. ﬁ::; ﬁ re ;qaq % o=
(A) CD/DVD ' A) CD/DVD ‘ ' !
(B) Floppy disk (B) Floppy disk : / S
(C) SDdisk (C) SDdisk '
(D) BIOS (D) BIOS
75. A floppy disk contains — 75. e e # R —
.» (A) Circular tracks only (A) Rk circular tracks
(B) Sectors ohly B) Rk sectors
(C) Both(A)and(B) © (@) T
(D) None of the above D) | I-If@?ﬁ A q B T8
76. The process of copying files fo aCD-ROMis 76. CD-ROM T Wit it e i el ATl
known as — ' 3 :
(A) Buming (A) Buming
(B) Zipping (B) Zipping
(C) Digitizing " (C) Digitizing
(D) Ripping (D) Ripping .

5 w1 % ford Tg / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M
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™.

1]

frfeafga & ¥ HF-91 Google & payment

Which of the following is a payment processing 77,
system by Google 2 processing system @l
(A) Paytm ’ (A) Paym
B) Checkout' (B) Checkout
(C) Code - (C) Code
(D) Allof the above - D) W(ﬁﬁ
78. “Which of the following is an example of web 78. ﬁﬂ%ﬁ@ﬁ T ¥ % web browser ®1 IaTEl
browser ? 27
" (A) Yahoo (A) Yahoo
B) Google (B)  Google
(C) MozillaFirefox (C) MorzillaFirefox
(D) AltaVista - (D) Alta Vista
79. Whiéh is an instant messenger thatisusedfor 79 Chatting % IUTWT gH 1ol instant messehger
chatting ? ' -y
(A) Google talk (A) Google talk
(B) Altavista (B) Alavista
(C) MAC (C) MAC
(D) You Tube D) YouTube
80. creates a barrier between your 80. ... am%a LT 3R @t gﬁ'&T % 9=
computer and outside world. T T S Rl 8 |
(A) Firewall (A)  HERE
(B) Networking (B) carh
(C) Intranet © e
(D) Internet (D) e

% *1 % fo@ st / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M
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81.

PART - III (General Mental Aptitude)
YT — 11 (ST ARG awaar)

In a certain code language ‘324° means * light -

is bright’ ; *629° means ‘Girl is beautiful’ and

4758’ means ‘I prefer bright cloths’. Which -
digit means ‘light’ in that language ?

LA o ——— i i R

82.

83.

x>
B) 4
© 7

® 9

How many rectangles does the following figure
have ? '

@A) 10
®B) 12
(C) 14
@) 9

A shdpkeeper uses a code OLISPAH =28

where
0=7%1
L=T2
[=33

and so on.
What is the price of an article marked SOIL?

@A) 12
®) z10
©) %6
®) 8.

81.

Feret ope o F 324" 1 WAeld @ TR THERGR
¥'5 629" % HaeE @ TEH G & AR 4758

o e T TR R Wi’ 9 A A

| ‘yey’ % g AA-E1 SR

82.

83.

) 3

® 4

© 7

® 9

Pt fort & et ot @ 7

A) 10

®B) 12

©) 14
®) 9

T ghFGR OLISPAH =28

0=1¢1 “

L=%2

1=233
aﬁimq%aﬁa@ﬁﬂm%@é SOIL &
e =1 B 7
A) %12

®) %10
) %6

®) %8

v %W % frd 1% / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M
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84. Choose the correct answer in the third figure: -

1]

27 v

84.

cfr P 35 it T e o

I Nl 39
7’030 11,@34 46@34
53 9 25

~ 58 9 ' 25

A 17 = A)—17 _ 5N ..
®) 12 ®B) 12

(C) 15 © 15

D) 18 ®) 18

85.  What will be the next term in the following
series ?

DCXW, FEVU, HGTS, 7

(A)
B)
©
D)

LKPO

-ABYZ

JIRQ
LMRS

86. How many squares does the following figure
contain ? '

A)
B)

©
@)

27
25
22

None of the above

83.

86.

FrferRger Soft 7 avren ug -T2 7
DCXW,FEVU,HGTS, ?

(A) LKPO

(B) ABYZ

(C) JIRQ

(D) LMRS

fifeen Fo  Frel 1 3 9

(N 27

B) 25
© 22
D) 3w A A A T

T FA % o 518 / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M
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87.

A wooden cube is painted BLUE on all six
faces. The side of this cube is 4 cm. It is cut
into smaller cubes of side 1 cm, How many
cubes have only one face coloured ?

V-
B) 24

87.

88.

(C) 16
D) 54

A die is thrown four times and its four different
positions are given below. Find the number
on the face opposite to 3.

88.

Ue: SRl o1 9 @t T EBR (faces) T I Y
?ﬁ’ét’nﬁﬁzﬁ-qwmlwaazﬁgm
430 Hjo ¥ | T 1 o Mo I ST T B T
ﬁ’aﬂaw,aﬁmﬁaﬁwﬁaﬁ%m@aﬁt
(face) T g0l 9

B) 24
() 16
M) 54
T U1 TR AR HH T 3R Iudh A Sk

- IR e ¥ gere o 3 % Rada wm

& <A-ar 37 g 9

'

. " 2 |
B) 1 ®B) 1
€ 4 © 4
D) o m) 6 . _
89.  Three positions of dicc are given below. The 89. TrRAiu@ H Fee Tt =§ (g
sum qf the number of dots on the opposite TR (Face) & ﬁrgaﬁ & e w5 w7 3 af
faces is 7. If all of them have odd number of . - L
dots on their bottom face, then what would G}ﬁ- | ;ﬁ% AR (face) ﬁw e a i
be the total number of dots on the top faces of AR UrEl B 9 e Ay § fergatt &
these dice? | T ] AN =T g |
@»w 12 (A) 12 |
B) 6 | B) 6
(C) 4 () 4
(D) 10 | M) 10
& FR & fordy WE / SPACE FOR ROUGH WORK |
8210/ME-JT/RCE-M [27] Set - A



90.

91.

92.

Chioose the one which is different from the
others —
(A) 263
® 1l
(C) 383
D) 55T

The mirror is placed in front of the clock. The

clock shows time 5:40. What will be its

reflection in the mirror?
(A) 620
B) .5:40
- © 6:40
- (D) 820
Choose the correct alternative figure in which
figure (X) is embedded :
(X)
)
®)
(&)
)

90.

91.

92,

(D)

o e g < A el e & foe 81—

(A)
®)

263

111

(C) 383

(D) 551
%@a@%w&mwa@aﬂwﬁ
5:40 1 THT T, ?ﬁmﬁﬁwwzﬂ
i e g 7

(A) 620

(B) 540

(C) 640

(D) 8:20 _

7e ! Rreren Fom @ﬁ%q e %ﬂ X)

ﬁ%ﬁ%
~

X)

(A)

B)

G w1 % fordl wg / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M
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e v e fr ot Rl B (0

93.  Choosc the correct alternative figuire in which 93:
figure (X) is embedded : S
X) X)
(A) = w | H
®) Y ®B) Y
(C) Q_ (©) Q_
D) < D) <]
94. How many squares arc contained in the . 94 Tor=ifere ot 3 femem ol € 90

following figure?

GV
B) 8
© 10

D) 6

(A)

(B)

(®)

D)

9

8

10

6

T H1Y & Tl 3918 / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M
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95. Choose the correct alternative box which can 95. ﬁmﬁm = (X) @ =91 5 Trfofiaa ﬁm Pl

be obtained by folding figure (X) given below: ¥ I -
\ : _
\\ W
) —— ™

(A (A)

®) B

(©) ©

N AR 250

D) D)

W< A< 2%

96. Accident is related to carefulness, in the same  96- 5 av e, R & TR 3, S we

way as Disease is related to W g 3
(A)  Doctor (A) Tfras @
(B)  Sanitation  ®B) UFER
(C) Treatment _ ) (C) =N g
(D)  Medicine D) TEF

< % % ford 18 / SPACE FOR ROUGH WORK
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97. What will be the next term in the following 97. T=faRea o 3l § aven ug aﬁ:{_m EChW,

number series? 6, 5, 24, 25, 144
6, 5, 24, 25, 144 A 175 '
) 175 B) 156
B) 156 (C) 185
(C) 185 (D) 140 - e
(D) 140 : [ : v
98. Which two numbers come next in the 98. ﬁl:{ﬁ;{ﬁaa 3% 2071 A STl € 37 I &)
following sequence ? 4, 6, 12, 14, 28, 30
4.,_6, 12, 14, 28, 30 (A 60, 64
(A) 60,064 < B) 60,62
(B) 60, 62 ' (C) 40,42
(C) 40,42

(D) None of the above (D) SRiH A A BE T

99.  Choose the set of numbers which is similar to 99, fuu gu W=y & HH 3eh! 1 T BT :
the given set: e 1 T ¢ (63,49, 45)
Givenset: (63,49,45) . 1
(A) (81,63,45) (A) (81,63,45)

(B) (72,40,24) ‘ @) (72,40,24)
(C) (64,40,28) (C) (64,40,28)
D) '(72j 4?’ 24) i D) (72,48,24)
100. Insert amissing number from the following . . ,
alternatives : 100, Fr=ifera freredt # @ b wH W
8 (17 ]33
8 | 1733
_ . A 24975029
1215 |29
10113 7?
10113} 7 '
CAVIX
(A) 23 A
. B) 43
B) 43
©) 33 (C) 33
(D) None of the above (D) TR F Y SE T8l

Tk & % ford 318 / SPACE FOR ROUGH WORK
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101. Insertamissing number from the following al- 101, freifea fomedt § @ wdt foren oiew R

ternatives : TH R TR :
24 | 1441384 24 | 144|384
6 |36 ] ? 6 |36 2 |
2 112132 g { yyd g9 |
16116 1|6 |16
(A) 85 (A). 85
® 96 B) 96
(C) 80 (C) 80
®) 91 D) 91 :
102. The sum of the income of Abir and Bhuwan is 102. 3R 3 Yo 6 o A T, A 3R gﬁg‘{

103.

more than that of Chetan and Durgesh together,
The sum of the income of Abir and Chetan is
the same as that of Bhuwan and Durgesh taken

together. Moreover Abir earns half as much as

the sum of the income of Bhuwan and Durgesh.
Whose income is highest ?

(A) Abir

(B) Bhuwan

(C) Chetan

D) ' Durgesh .

Pbinting to a photograph, a man tells his friend,

~“She is the daughter of the only son of my

father’s wife.” How is the girl related to the
man?

(A) Daughter
(B) Sister
(C) Mother
(D) Niece

103.

a1 3 A Y o D | R ok S B
A % A Y SR G R b A

TR R | SR A 3, P R G A

& 9w B aneht R | ARy RRed o@ wR
R :

(A) R

®) T

(C) e

® gmo
férelt o1 (Photo) *h1 Y@ g ferell =afth 4

% THAE 14 R | IR I gt b

G QR EEE R |
@& T

®) &

(C)

©) et [ Wl

T % ¥ ford w18 / SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M
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104. From the given alternatives, complete the 104, friterdt et @ Freferfan ater oft % fah

following letter series : Tt @ 9RY
cb____beeba__b__ cb____becba__b__
(A) ccca ' “(A) ceea :
(B) aaac (B) aaac
(C) bbbc (C) bbb
——(Dy—bbba— (Dy—bbba

105. Which is the most suitable Venn diagramto 105
represent antisocial elements, Pickpockets and
Blackmailers ?

A)

(C) | '
D) @

106. In the following figure, if rectangle represents 106
Artists ; circle represents Players and
triangle represents Doctor, then how many
Doctors are neither Players nor Artists?

N 2/.

(A 27
B) - 30
© 22
D) 28

 fye-ar 3 Fe 9d vU @ S a4,

[
A)

o @

ﬁﬂﬂ%%ﬂﬁmﬁmﬁﬁaﬁﬁm%

%,ﬁm%a%gﬁaaéf@aré%aﬁw
fERll LN »

30 3 /4

22

N
®B) 30
©) 22
D) 28

< %1 % fort W% / SPACE FOR ROUGH WORK
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107. Inthe following figure, the triangle represents 107, feifera forsr & f;(g\?{ BETAT el Rl

‘girls” ; the square represents ‘sports persons’ ‘Raeniat =1 3k g ARG B m%
e e s o Wk T s 8 e
b o R A wfirer 7 2 9

persons but not coaches ?

L . , PA LF
7T a1
S o

C .
(A A A (A) A
®B) B B) B
C) E © E
D) D ' ®) D
108. Choose the correct alternative which 108, T&t e g < g &% a1, oM 7
represents the relationship between Smokers, Y I AR TR 6 A T ST S

Non-smokers and Lawyers :
| O (A) | O
A) O . O

(B) ®)

© Q i (C>l .O
@D

Y& %Rl % il 9918 / SPACE FOR ROUGH WORK
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109. If 109. afe

() P+QmeansP is the husband of Q @) P+ Qe Haed P, Q% Ul 2
(ﬁ) P + Q means P is the sister of Q ' @ P+Q® TP, Q & ETE’?T 3
(i) PxQmeansPisthesonofQ o porompowmiy
then which of the following shows thatPis L .
the daughter of Q? a “”55 Freterfiaer & i g @ #6 P.Q
. : & I 7T
(A) RxQ=%P
(A) RxQ=+P

B) P+SxQ
' i B) P+SxQ

C S 3 ,
A (C) Q+RxP

() SO E D) SxQ+R=P

110. ¥ :
_ | 110. g
A + B means A is the brother of B A+B@ AdeE A, B H WE B
A — B means A is the mother of B A-BHE TEEE A, BRIAT R
A x B means A is the sister of B AxBHETGAIA, BR T 8
which of the followirig means that A is the ?ﬁ%ﬁ%ﬂﬂﬁ?ﬁﬁ?ﬁ?ﬁ A BHTHIE ]
maternal uncle of B?
_ (A) A+C-B
(A) A+C-B
. ‘ (B : B
B) A+C+B ® A+CH
© A=-B+C © A-BFC
D) A+CxB D) A+CxB

TF % % ford 5918 / SPACE FOR ROUGH WORK
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PART -1V (General \’Iathcmatics)

T~ IV (ST TRE)
111. Four consccutive prime numbers are in 111, ¥R G0 3T G ¢ S TR o A E

increasing order. The product of first three of Tget! mmgﬂﬁm 385 3R sifem i o O
__ them is 385 and the product of last three is 1001 2 | o7: =70 T 51€ 7Ty T i
1001. Therefore, the largest number among ’
—these pumberwill be — Ay H—— —_—
A) 11 ' @) 13 |
®B) 13
<€ 17
€ 17 .
o) 19 | , D) 19
112. Ihe greatest number among 2%, 340, 4% and 112, 2%, 34 430 qur 520 & gad 7 AT |
0 will be ‘ ) "‘250
(A) 2% L
. (B) 340
@) 3%
30
© | _, © 4%
, a)) 520 (D) 520
[113. If the number *381 is divisible by 11, then  113. H& *381 e 1138 ﬁqu g, = %WIT{
the value of * will be 3 B
(A) 6 ’ : ' A) 6
B 5 @) 5
o) 7 . o) 7

114, F= = ma.érm

114. The value of the following will be
V900 +,/0-09 +4/0-000009

900 + J0-09 +./0-000009

(A) 30330

(A) 303-30
(B) 30303 B) 3030-3
(©) 3-0303 (C) 3-0303
D) 30-303 ) @) 30303

wh w1 % o WTe / SPACE FOR ROUGH WORK
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| ; 5 ‘ VRS
115. If\/1_5'=3-88,thenthevalueof\/'; willbe~ 115, afe 15 =3-88, @ \/; %1 A BT~

A) 163
B) 18
(©) 136

D)

129

116. The value of

v

\j21+if59+\/16+-’{552+\/4—§

will be -

A) 4
®) >
© 6
™) 8

117. If greatest common divisor (ged) ofa, bis 12

where a and b are positive integers such that
a>b> 12, then the least value of a and b will
be respectively

A) 12,24

B) 24,12

(C) 24,36

D) 36,24

118. The ratio of two numbers is 3 : 4 and their ged

is4, thentheir LCM willbe
A 12
B) 16
(©) 24
(D). 48

116.

117.

118.

(A) 163
B) 189
1-36

1-29

(©
(D)

\[21+-3{/59+ \[1‘6+3{/772+\/Z§
I A AT —

(A) 4

B) 5
©) 6

®) 8
afy a, b @ HEAW QEUEdE 12 € 991 a, b

EATeH qUTTeh B T W {6 a>b> 12, @
aamb?“ﬁ?{aw‘ma'm:ﬁiﬁ

A) 12,24

@) 24,12

() 24,36

M) 36,24

& TEATE 1 ST 314 R T IR Ao o 4
8, o I Fo o BT

A 12

®) 16

() 24

(D) 48
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119. Ifthe average of m numbers be n? and that of n
numbers be m?, then the average of (m + n)
numbers will be

(A) m+n

(B) mn
(C) m-n
D) m+nb

120. The average of runs scored in 10 innings of a
cricketer is 60. How much should that
cricketer score in 11th mmnos so that lhc
average increases to 62 ?
A 83

. B) 82

(C) 80
D) 81

121. The wage of an employce is slashed by 20%
by the company. By how much percent the
wage of that employee should be increased in
order to restore the wages as bcforc it was
slashed ?
A 275%
B) 25%
(C) 225%

D) 20%

119.”

afe m GEadl @ S n? § U1 n eadt W
Aad m’lé,*cﬁ(mm)zfr@maﬁwméw

m+n

120.

D)

aaaaa

m+nb

g e a1 10 Wil § w7 o 60 3

1l # e B W R B o @

121.

A)

®B)

©)

)

e g 62 A T )

83

82

80

81

o ATl T 3 e gRT 20% B R

H el R | 3 SR Aegh A g veelt Awgh
o TR A G, A S Heigd R wlere
i g el ol 7 |

A)

(B)

(©)

®)

27.5%
25%
22.5%

20%

T R % ferd 9718 / SPACE FOR ROUGH WORK
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122.

The salary of Ais first increased by 10% then
it was decreased by 10%, then the percentage -
change in the salary will be~

A) 0%

122.

B %l

123.

124.

(C) 1%more
(D) 2%less

The diameter of the tyre of a van is 28 cm.
The tyre does 100 revolutions in one minute,
then the speed of the van will be--

(A) 70 meters/minute
(B) 80 meters/minute
(C) 85 meters/minute
(D) 88 meters/minute

A person purchases 240 items at the rate
of T9 per dozen. If he sells the items at

the rate of ¥ 1 per piece, then the profit
percentage will be— '

1‘
A) 33-%
@ 33
®) 337%

©

©) 3HB1%

124.

B 1%

afe A & T 10% =g T 3N R 10%

&

(A) 0%

©€) 1%
D) 2% FH

: @w@wqﬁmmmzsﬁﬁ.%@

firre & 100 waR T § | M w0 gl -
(A) 70 Hiex [ fe
B) 80 Hw /e

(C) 85 [ e

D)

o =l 7 240 TG 29 7 T B @R
@i | aft 78 IR T 1 R g A R W
3 A Ee o R g -

88 e / fire

A 331
4

(B) 33,—;—%

®) 3%

& w1 % fod w1 / SPACE FOR ROUGH WORK
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125.

A shopkeeper gets a profit equal to the selling
price of 15 items by selling 60 items, then the

profit percentage of the shopkeeper will be —

A 25%

125.

126.

127.

o)

1,
@) 333%

© 20%

4 -
28— %
©) 28

Two equal principal values are given as loans
respectively for 2 and 3 years at 8% per annum
simple interest. If the difference in their interest
is T 56, then the two principal values will be -

A)
B) 700

z 800

(©) %560

D).

In a bag, the ratio of 25 paise, 10 paise and
5 paise coinsis 1 : 2: 3. If the sum of all the
coinsis ¥ 30, then the number of 5 paise coins
will be - '

%350

(A) 30

-~ ® 100

€ 150

200

126.

127.

- ©

T GFAGR 60m§aﬁﬁé"ﬂwa@éﬁ%
fersher w72t 3 arrer @ fireg e R | 99 gRR
1 T HfereT gm —

(A) 25%

®B) 33%%

20 %
. 4
(D) 28-,‘7-%

& =R Tl sm: 2 99 ot 3 af 3 fog 8%
yfer o areRe = ) IYR ot W | afy
= A AR T56 B, d IUR A =t wlwt
&t -
)

B) 700
©
D) %350

wh 9 125 99, 1090 T 5 N F Rt
U 1:2: 378 | 3R B e AW 2303,
A st Rm R dendf—

¥ 800

¥ 560

(A 50

B) 100

(C) 150

- (D) 200
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128. ‘The ratio of income of Aand B is 5 -dandthe 128, A @1 B & 3 & 3G 5 4%3ﬁzA Ja B

.rati?'ofe;(;fnditu}rle sz;antc}ilB be3:2.Ifthe % 1 T S 312 3 | afy o ¥ o & Qe |
saving of thatt e enc of the year be ¥ 800, | zsoowﬁ%,?ﬁAﬁam@nﬁ—
then the income of A will be — : -
@A) 72,200 A) 2,200
BT 2000 (B) 2,000
() 1,800 , (C) 1,800
@) 1,600 " o ®) 1,600
129. The ratio of three numbersis 2 : 3 : 4. If the.  129. i STt B T 2:3:4 8 170G 371%5 zwﬁ
sum of their squares is 1856, then the numbers 1 TR 1856 % & g gt —
will be— '
(A) 16,24,32
(A) 16,24,32
Y : - 8,12,16 ¢
®B) 8,12,16 ®)
© 12, 18, 24 (C) 12,18,24
(D) None of the above @) TEF B o
130. 0000006723, when expressed in scientific ~ 130. 0-000006723 F v hwm A e g @
notation, is— ‘ : ST T — '
©(A) 6723 x 107 ' (A) 6723 x 107
®) 6723 x107 | = I B) 6723 x 107
© 6723 x 107¢ (C) 6723 % 1_0‘6
(D) None ofthe above 0 SEnRAE
13/1r Theaverageofsmnumbemsxandtheaverage- 131, @: GEamel &1 Aad x 3, = @ e Tt #
of three of these is y. If the average of the- Sy R e 9 79 T W S
remaining three is z, then :
A) x=ytz . (A) x=y+z
B) 2x=y+z , B) 2x=y+tz
(C) x=2y+2z (C) x=2y+2z
(D) None of the above _ | (D) SIgw 7 QA T

T F & o So18 / SPACE FOR ROUGH WORK
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2

28 ) - . ) 8 .
132. The sum of two numbers is == of the first - 132. amﬁwmqﬁmw 55 gl gE

25
number. The second number is what percent of T, Ugel! T i fercen ufora grm 9
the first ? '
R A 12 %
@) 4% — ) ) }4'%. — =
© 16% © 16%
O 18% D) 18%

133. The difference between the cos‘t pficeand sale 133, freft ] * ;gq T a ‘f\a@:;q q H W
price ofanatt'i'cle is ¥240. Ifthe profitis 120%, 2240 % | 3l e 120% 2, O R e g —
the selling priceis— S '

(A) %1200 (A) T1200
B 71400 B) 1400
(C) %1600 (©) 71600
@) %1650 D) %1650

134.

Lines PQ and RS intersect each other at point .
O.If ZPOR : ZROQ=5:7then £POS is—

(A)

®)
©
®)

75"

105°
115°

125°

134.

@ PQ a RS forg O W wfrafem #=et & |
afe ZPOR: ZROQ=5:7,a /POS % -

GV

®)

©

D)

750

105°
115°
125°

¥ %l % fordt STE / SPACE FOR ROUGH WORK
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135. If AB Il DE, ZBAC=35°and ZCDE=53°, 135. 3EAB Il DE, /BAC= 35° &R, ZCDE= 53°

then ZDCE is— a1 ZDCE & —
A STIT >B A T3 >B
5 c
D/)33" \E D<= $-53° ST
G (A) 64°
?(3:)) ;Z @) 72°
: (C) 92°
D) 102 D) 102°

136. Line ! intersects line m and n at points P and Q
respectively. Then corresponding angles are

(A) /1 and /7
®B) /1 and £5
© /2and £8
D) /3 and £6

137. Find the length of the altitude of an equilateral 137.

triangle of side 3\/—3: cm.
(A) 45cm

B) S5cm

(C) 52cm

D) 54cm

136. @1 @3 m @ n P 3R Q g W

m

(A 1T /7
B) 1 L5
(©) L27 /8
(D) L33 L6
T 33 9L %7
(A) 45 T
(B) 5 @4

(C) 52 W
D) 54 WA
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138. The cost of carpenting aroom 18 m long with .- 138; lgzﬂam@q@mﬁmﬁmﬁﬁzﬁm

a carpet 75 cm wide at  4-50 per meter is el Rradh e 75 2. 7, T450 ¥R e
Z 810. The breadth of the room is — R gglog | T R NEE T RIS |
@) Tm | @) 7

B) 7-5m . _ B) 75 _ _

(€©) 8m | . (C) 8

D) 85m | -. D) 85 H

139. The area of athombusis 150 cm? The length 139, fordft wwer= %@‘ffa EIRSELT 150 @, w2 =
of one of its diagonals is 10 cm. The length of Iy el o Foepl e 107, AL ], g

the other diagonal is PPN ot
(A) 25em | (A) 253 .
B) 30cm ‘ (B) 309 .
| (©) 350m (€ 358 7
(D) 40cm (D) 40%. .
140. The value of : 140. HF AT :
-000063x0-4 o
Wo-o()o); ‘ 1000063x0-4
is 0-0009
(A) 028 (@)n (128
B) 0028 B) -0028
(C) 00028 ’ (€) -00028
(D) None ofthe above D) Wﬁ@ﬁg;@

< %@ % ford 397g / SPACE FOR ROUGH WORK
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PART -V (General Hindi)
W - V (s fedh)
141, enfyd a0l 1 Fad § -

(A) zrazavi B) = 9

(C) e = ®») IH=
142, A9 1 SRV B § —

() e B TGE

(C) Tad D) T
143, ﬁ%@ ga il § 7 2

) T (Bj W

© W@ (O FE
144, ST 2 ) TR T 3 o i

A T o ® T

©) & D) @t
145, wifee FonE e § -

() dian @ © ar |

B) TXRTAE T |

(C) M=

D) A @ T |

146. 1 ¥ Frem & dan fre yER AT R T
A) 4 B) 5,.
€ 6 ®) 7

¥ w1 % fad srg / SPACE FOR ROUGH WORK
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147, FremaTE wEEE AR
A) = ®) T
© @ ®) =

| B V1 " == i 1 oo i o 221 - I

(A) e ®B) e
© R D) e
149.'%@3@@%@%—
(A) .9g
(B) *H
(©) Brn-fdmm
) mﬁgsﬁ@rﬁé?ﬁ
150. Rm g d =t
(A) Hife ®) &
(C) TgaHRT D) Sl

151. %@wwﬁa—mmm%ﬁ%mﬁ
wher e g 7

@» W B =R
© wEEt (D) s
152, ‘P gt e o - Bg R )
W wfem @) ke
© W{@W (D) R

T FT % T 578 / SPACE FOR ROUGH WORK
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e — 153, ¥ & FF-a1 qortens R s 3 7
(A) B B) Bwew
(©) FWEr (D) e

154, o =mer A forr-Fodiwor <an v g 2 90

(A) 3@ Sre-areh v Y |
(B) e q w4 |

(C) s fremyes A @ d |
(D) = el 2T )

155, ‘Fref w1 Gl i ede - )
(@A) frreeid  (B) ﬁgmafza
© Freaefs ) freods o -

156. ‘ERA-g HA-HT ma%?

(A) &g W™
(B) HHURT wE
(C)  F=mitme T
D) GeT T

157. ‘ar=or § o vt S @m0
@& & ®) afy
© @ @ &

158. ‘ﬁm’ﬁaﬁa’émwwﬁﬁq—
GVt ® i
(C) & D) =

W %1 % ford T8 / SPACE FOR ROUGH WORK
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159.

160.

"t @ wel foradaneds H-a R 2

161.

163.

164..

(A) i (B) weHld

©) wEdFE (D) deer

fore wd forenea o =g Rifm -

A sy B) e
©) ugeh (D) anfges
=2 1 g A g T § -

@) Xfewhen ®) it

(©) i @) e
162.

‘o | e e A R |
(A) ﬁww\azﬁam%
(B) TS T B

(©) ToogEs I}

O) TR

=g h et R S

A) R F @

B) Saw ffua o &

(© VI ATYHE

(D) 3w # e fhY &

Sy ffr  forelt e 2

(&) 3R - (B) e
© f&d ©

W %[ % fordl 8 / SPACE FOR ROUGH WORK
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165. MR o R -
(A) 3 % % o o
® ol <t o e o
(©)  =oi = w1 el avi
Oy TR fgefta aof
166, SRV g o o 2
(A) TP RN
®) &l el 7 g
(© e A e
| (D) - SERV-T G W T B
167, Friiien i e = 3 —

@ @ o
© = ®) T
168, B1-31 v Rl e & i o 3
(A) wr - ®
© = @ wE
169. ‘wlien’ weg R o § ayar § 9
(A Few
©
| @) T
170. ‘R’ for v o1 wee 3 9
(A)
®B)
() H
(D) el

7

¥ %t % ford e /SPACE FOR ROUGH WORK

8210/ME-JT/RCE-M ©149]



T (D) AEar

171, “ofey =1 foeim g B —
(A) TR
®B) @
©

172. ‘ggﬁg’mmﬁm%-
(A) T
B) e
(C) FHE
D) AR

173. ‘m-gﬁ’zmaﬁm%?
(A) WG i
(B) ¥
(©) =T R T 3
®)

174, ‘¥itg Y o Sf T E 7
(A) TEN G B IIIR FA
(B) ®H-g@ gel
©) sita % TR & W wEw
D) o wE w

175. “OFEE’ YeE HA-T1 8 —

A g
(B) HHER
(C) TR
D) ¥

<o 1 % fordl 5g / SPACE FOR ROUGH WORK: -
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176.

177.

178

179.

- 180.

Mt FAAT T T A FE T
(A)  FHIE FA

B) g e

(C) T &

D) =&

‘3G T HETR o 7 -
(A) FEH AT

® Ao

(C) a1 fawes S

@) el g # E

‘ferereTT Tg B 71 A R ]
Ay T B

B) WG &

©) ek g

D) @l g

e T, S A R
(A) T

®B) T

() Wi @m ¥ o A fem
(D) Y e FE FH A G
w T e  w ed  —
(A) UEHAH! HAT '

B) =M &

(©) FEE e

) ehga # o T

< %4 % frdl WTg /SPACE FOR ROUGH WORK
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181.

PART - VI (General English)

' P HIT — VI (VTR SI)
[ only want little in my tea.
A) m

B) a

182.

183.

184.

185.

(Cr—fow

(D) the

being ill, he went to school.
(A)  Asif

(B) Aslongas

(C) Inspiteof

(D) Although

The feminine gender of bachelor is
(A) maid

B) gd

(C) lady

(D) women ‘

The plﬁral of index is
(A)  index

(B) indices

(C) indexis

(D) indexs

One who is new to the profession or trade is
said tobe a/an '

(A) expert

" (B) novice

(C) starter

(D) unexperienced .

T % % fordl 78 / SPACE FOR ROUGH WORK
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186.

187.

The synonym of brief is
(A)  limited

B) detailed

(C) short

(D)  small

The antonym of expand is ___

188.

189.

190.

191.

(A)  conclude
(B) congest

© 'convert

(D) condense

We must finish this job_____ next week.
(A) at

(B) by

(C) since

D) to

Choose the correct ahton_yrn for the word
(A) Alien

(B) Nadir

(C) Opaque

(D) Arrogant

Choose the correctly spelled word.

(A) Precced

(B) Proceed

(C) Preeced

(D) Procide

Choose the correct synonym for the word
“Fury”. '

(A) Anger

(B) Misery:

(C) Pain

(D) Anguish

% %1 % ford W / SPACE FOR ROUGH WORK
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192.

————103. Thebetierthe joke; the———is the laugh.

194.

195.

196

They have repaired the road again.

The passive voice for this sentence would be :
(A) Theroad has been repaired again.

(B) - Someone has repaired the road again.
(C) Theroad is being repaired again.

(D) Theroad had been repaired again.

(A) loudest

(B) moreloud

(C) more louder

(D) louder

She (work) all day.

(Rewrite using present perfect form of the verb

_in bracket)

(A)  Shehad been working all day.
(B)  Shehad worked all day..
(C)  She has been working all day.

(D) - Shehas worked all day.

They _ (see) the accident when they
(wait) for the train.
(Rewrite using simple past/past
progressive form of the verb in bracket).
(A) They saw the accident when they had

waited for the train,

(B)  They saw the accident when they
waited for the train.

(C) They saw the accident when they were
waiting for the train.

(D) They were seeing the accident when
they had waited for the train.

The principal read the report. _

The passive voice for this sentence would be :

(A) Thereportis being read by the
Principal. ~

(B) Thereport was read by the Principal.

(C) Thereport will be read by the Principal.

(D) Thereport has been read by the
Principal.

T H % ol 378 / SPACE FOR ROUGH WORK
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197. They have painted the house.
The passive voice for this sentence would be :
(A) Thehouse has been painted by them.
(B) The house had been painted by them.
(C) Thehouse is painted by them.
(D) Thehousewaspaintedbythem————
198. My brother said, “I am going to Delhi.” |
» The indirect narration for this sentence would
be: : .
(A) My brother said he will be going to
(B) My brother said that he will go to Delhi.
(C) My brother said that he is going to

" Delhi. }
(D) My brother said that he was going to
Delhi. ‘ ,
199. *I have been waiting for an hour”, complained
Ram.
The indirect narration for this sentence would
be:
(A) Ram complained that he had been waiting. -
foranhour.
(B) Ramcomplained that he has been waiting
for an hour. s
(C) Ram complained that he was waiting for
~anhour.
(D) Ram complained thathe is waiting for an.
hour.
200. There weren’t cucumbers in the
market. '
Fill up the blank with correct word.
(A) any
B) 1o
(C) some
D) few

T FE % Tl sg / SPACE FOR ROUGH WORK.
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I eifR w@ W WA . 3w atfererem 3t : 200

Time for making answers : 3 Hours Maximum Marks : 200
e :

1. o g § 200 W ¥ 1 v vw 1w W 3 | W e ww w0y s #
0. @ v e ¥ fm owm ¥ g owm (1) () se s (i) TS w99 1- 50,
Y (2) HEYER H W T 51— 80 W, (3) @ wHf dwaar 81— 110, wWmT
(4) wm= TR 11— 140, W (5) T R 141— 180, W (6) @t sit 181— 200. -

3. uﬁ%wa'ﬁ'OMRm—m(wsﬁz)mmaﬁﬁm
%, Waﬁw%g1mmﬁa%mw%ammm3ﬁ%ﬁawm1/4mw

o 'wﬁm%mmmmmﬁwmwmaﬁaél

MR Se-we (gt ®ie) &1 am s i U #g e 7 e e 9w we
mwﬁﬁg—mf@aazanﬁqgm&mach cwww?a’uw‘éﬁﬁl

Notes :

1. This question booklet contains 200 questions. Each question carries 1 mark Answer all
questions. ‘

2. ~ This question booklet consists of parts namely :

Part (1) (i) General Studies (ii) General Knowledge of State 1-50, Part (2) General
knowledge of Computer 51— 80, Part (3) General Mental Aptitude 81-110, Part
(4) General Mathematics 111-140, Part (5) General Hindi 141— 180, Part (6) General-
English 181 — 200.

Indicate your answé'rs on the OMR Answer-Sheet provided.

1 mark is- allotted for each correct answer and 1/4 mark will be deducted for each wrong
‘Answer. -

5. Use of any type of calculator or>|o‘g table and mobile phone is prohibited.

6.  While using Answer-Sheet care shbuld be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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